AOMUHUCTPaUnMa BennioBCKOro ropofcKoro oKpyra

NOCTAHOBJIEHNE

fg 8 82021 Ne /1SS3-/7

" "# $ 1 # %
& $# 1( #"o)* 1 # + % 1 — #
+ #h ./ 10

1 1 1 1 #2121 1 (2(3 & |
gr . 2100201 1 (213 & 43 # . +211 1
56 518559 - ;9;3 ) 1 -/ $ &$/ 1" +& 1"
1S # % I (21( 3 & O 3 #4211 1
8</5</85:;5 = 853 ) 1" +& $ 1 # 4 ./
&$# ./  #'00 $1 1 * # 1 21(
3 & ! 86159785;6 = 896 ) 1 oW 2$ 1 # =
S#2 1 1(?21 "1 ./ &$# ./ #"0i
7 "$ #" _( (" $ 1 # %
E$H# 1( #" )< 1 # v, 1 -
T A N
g $ # = [/ 2 . N ATT 1M1
1 $C " $ 1 # E$H 1( #" ) 1 ¢
T L " A N
9 $ # =$1 1 1 D & #1211 21M
12 " ATT 1 & BI$ #21 " Ip— $1 1 # /
11?1 & T
3 g 21 &V /[ ( & #1211
"LLO21MTI2 M AT T #2 1B+ N /S B I
128 # 1 ( & #1211 "LLo21ML 12

21 &1 1 #21 281 1(  )D o1












B 12+ $1# 2 C % + , % 1 - g
AR
B . C #2 T T Y A
8181 ES# % #"$ 1 # % $ # / 2 .
A &  H#L 21M1MLL 21MPM2 M
3M C $ 1 # &E$# 1( #" C @
20 1 w1t %2$ 1 # % & $# 1( #" K
$ v (12 e v/t s #

&S # 1( #"K
C +# $ 1 # % &S$H VI #"IT

$ v L " RS S N GRNY (R
C# WME v ( V/U L/ #S$WHC Y &S # 1( #"
W/ 1 - .M A B B 1"
1S # W1 +& 4+ 2#=C $WHC % #" 28=C ./
$ C " HM2UY L %= % /1 T

$ 1 # % &$# 1( #"IT
gIg +# S N # % & SH I #"T
sHOLS L # % & SH I BT % %

B . C 87 >2+ $#% / + % I — # + #% ./
1K
8 . C 8/7 >+ $#% / ! ! [ I . C
+ 0, % 1 = # + #% /17
+# % 1 #o% &$# 1C #" 1 - S C 0
S 1 1IC 1 P ! ! # 3 #C!
- K
3M 11 #$ #C1 1 -
$IcC! . 1§ # K
*1 4 *1 A% # C / C 21 »+1v v B 0V C #
?1 >$2 1 1"1 12 1$!' $ "> 2 1 1I($1$ "=
8ET 12% 1 #% &$# 1C #" #% I# <
(! %$Y S %+%# W% $HVIC (VT T
# C $! C 12 ! 3M 12 $ 1 # %

& $# 1 #" C # % I %S $# % $1# 1 1IC  _(
P 12 1+ 3M

R $ 1 # 4 & $# 1( 4"
£200 4 1 1 (2(3 & $ Y

_CAS # B+h  #= 12 D i% #h=— /% + #
$ 1 # 4 &ES# 1( # LS+ % I+ 1o
Ic"r % 1 $1s % ot & 2/ 12 17

gF > ¢ " 1 J$ V. 204 v =
$ 1 # &ESH# 1( H#" A 2+ /2 + 1
IC 21 12 & # 1"11$ #21 gl o+ - 128 # 1 (
$I 1 IC ML 2 g T S

$1IE1IC (1" 1 $¢C A 2 #+
$ Cu% ! J$ VvV ./ 204 vy =— [/ $ 1 ¢





http://www.belovo42.ru







#1 $ 1 # &$H#I( #" 2#=C ./
$ # .( 2%$#2 12 1K

B C 12 ( %12 | # + 2 &
$l# $ICHIM 12+ S 12 14 I #%
$ ! # % &SH#H I  #"4 # $ ! #
&$#I( #"K

‘B %# 12 #1 $ " 7?2 A$ + 2IB
LICI # $1 18 1" ( %A+ ( %B 4! I"M#&
"4 $ 1 #%="l  &S$H# = #"4  &$S#H I

#-"4 12 3M$ $IC#II2+ $ 12 14

Nl #% $ ! # % &SHN  #"4 #
$ 1 #  &SH #"4IC $' ! +$$ =

200 #% 1" 4 $ | #%=-" &$# =  #"4
211 #% 3M $ $ IC#! 12+ ¢ 12 14
N #% S O# % &SHN #"4  H% %

+% #4 2 $ 1% %+ %+ ! # . | K
BS$S ! # % g 12 1 ?21 &4
>t2 1.1+ 211/ H#+ 0 $ 2!
<78 C : 63 #I" +21 1 8<75<7855 : 8534 +
2#=C #C 4 # 12 2 12 . #1/

+J% %#% % !/ . #H S # % &S#H
#"4 JHC 4 1# J? #. +21 7

87]7 DC $.=-( $ C' I'l ( #% !2+ %
12 14 1)) J#%S ! # % &SH#HN #"7

| % #% 12+ $ 12 14 I ] #%
$ 1 # % &SHIN #H'@

l# #C! " K

! 12 1K

$! SHIIC($S  #HWK | IM#&T

87" 7 DC $. =-($ C'!! ( #% $! '# % #
12+ $ 1 #  &SHN #"7

ENE" $ 1 # % &S$# |( "
+210 # 11 (2(3 & $ ! 17

87/7:7 $HIIC (1" 12+, C +, %

- # +#%./ | #C4 #@
$ # 12 14 1'# /$ 2! 8767; 1%-"

"oy 7

L1 124 4% #= I+ -= % 12 4
$# o 2 +%# =1 .C +, % |- #
+H#H% . 17

*CULL (#%12+ $I# 12 (% +, %
|- # +#%./ 1@

$ # 12 14 '# | 8767 19- "

Mo K

! $1# ( $WC JI't! (K









8

* FA7:99957 )G* OF5:855 LI $!' + (
I (#% ##I"$S # %07

ool - , % ?2&( 1$ 1L
I $$ 2 $gIIC "1™ $$ =
# = ( %@

l2.= N =" gmr="r $ % !
$ '+ $H!IiCc "M1" 4 2 + $ $ =1
- =/ "/ + K

% %= &# + " g1 =" 2 $!
$ +%# %K $!'I"= " ' # # $#"=

2 #1218%2 % $! $&# 4! - #%=-"1$ K
L2 s M oIma4 - #%=-( $ 4
$ " IC 4 21 # 4 1- #% $
+%# % . 12 4 12+, $I- +$#
#2142 12 K
$ 2IC $ ! # % &$#I( #" I 2
$HIIC "M 1" 40 - #%=-($ 4 $" "

(A /B +2 412 4 111 " !
N+ + %4 I %2+ K $ "
IS0 = #& # $ " # = .+ Y
2+ 1( $ "$ 27

* 1 - "

! I 2 +
$IC MI" $$ = # = ( %O
L2 $HCc m o1t a4 - #%=-( $ 4

% 2

$ IC 4$'" 1 1 '%4 ' #4

20 # 4 #/$IC. 12 . # B I/}

$1+41 /. CT* 1- " 1 12 + %
N1t $l ! 4 I$1] =

" #&4 S+ T LLCI LN #2 214
$-  # I +$ $ %K

2 $Hic et 1240 Sl + Sl
# 214 21$ . 12 7 #% $$ % +%#
$troo# 2 1C2 0 4 s o '%
$1$ "#27 N =%% %2 #% # ! %-/
2%$.,7?IK

$ 2IC $ ! # % &$#N( #" I 2
$HIC M1t a4 - #%=-(% 4 " "

! #4 ( + 2 4 12, 4 1!
2 1 ++ %4 $!I #8&4 + $ 3
$' #% ! - =/ '/ + 4 % "
I$!1! = #& # $! " # = .+ I $ 7
* I - " ?2 #1/ I 2

$I#11IC "' $$ =4#= ( %O
L2 $gNIC M1 40 - #%=-($
#/4! - % 9! 12 4%, 1&#



;9

+ 21 #° & = 4+ - s121( . $! Cig$ >1
! # &1 3! #o" 1 % 1 #] IS1# % $1 %
L L N R $ - 1 ?! # 1C + % 1 C2
P I 2 A 1$ 1 C 2B
! 2 $ypv1ic o omrrorto4r - #h=— ( $ 4
12 +. $1 1-- 1 ( + S # 21 +h# (U 21$
1 /1 S Vi 1
81;EI97 ! % 2 21 2?21 1 1 $1 $ ! #
& $#° 1( #" 3M # =% P! 1 #
* #" 1 (21 3 &
I 887;8185;8 - ;9<6 ) * 1" +& % #" 1
" 28V # L/ & ! $ 1 # 0% "l v
& $# ./ #"00
8;FT*12+ # 1 $1 2 C & $# 1 #"1
81;F1;1 LI $12 +  #% 1 $1 2 C
$ 1! # 0% &$# 1C #" W #=
$I1#! U $1 - ( $# 1 1IC 1Ml P
$ + C /7 # $ ! # 0% & $#° 1( # " +1
1 $1 21 1 1. " #h K
$ ?1 ! ! + % # 1 $1 %2 $ I #0%
&$H 1C #" AT 1 7 21 & 1 & $# 1(C #"|d
+ 1 10 g1y g C % 2?21 & B
L N +% # ?1 I — %+ $IH#C
& $# 1(C #"K
1 $1 1 - K+ $ 1 it & $# 1(C #" 1
1 C # #wh# & 1" c . L N
! 1 3 1 # 0% &$# 1(C #" 11
! ! $ ! #0OuK
I #= 121 ¢ 1 # 0% &$# 1C #" 121
R F % /%1% $ & 1 it & $# 1(
#"K

I+ 1 1" $C % ?1 & VI N
&$# 1( #"K

I I T A7 N N N (R S .Y (R
$ 1 # % &SH N #"K

12 (v $ #h+% #£(2 2?1 & 1$1%2 12 /
$ 1 # % ESH# 1( #"4L $1w2 1 o# o ow  ((
A+ (W SWETIC 1MoL 210 oy $IELIC 1M
1" # 1 $& # $1# 1 IC 1"t

#C /11 1 IC 1"l 214 C $& # I

$IF 1 IC 1L 2 $1 — ( $wmriIc ooy
200 /Y - #%h %S +u# (12 1L +y #(

gI;FI8T $ 1 IC . 1" 1 $C o1+

#
- #U # 0 " 8% # W # =—/ #1 (1 $1

%



&SH 1( #" I % 1 #
200 S _0$ L2
12 + g S 14 1 /1 1 #$HC % 1 $I(
#y /2 21 & 1'$ H#H/S$ U # u & $# 1(
g 1 C # 1 171 # /Y L/ #% S C W
E$# 1( #" 12 VI B VAR BV B
e c % &s# 1 #"  (  (
$ 1 # &$# 1( #" # $1 #/1 $
1/ $14741 211 11" %24 2#=C %
1 $C 1$ 2 $1 - 1I$  1C24
241 1$ 1 C2¥
12 + $1 1- # $ 1 1% vy, ==/
$1HC = & $# 1( #" "B T
8I;FOT < $ 1 # ESH# 1( #" o+ 1 (
F% M 1 $& # 1 SIHEIIC 1ML UMY 0 o %S
#C1 U - wbh #
# S C % 21 & $1 131 $ 1 # u

& $# 1 #"K
#H$! C +%# % 12 U

#o $1#C % ?1 & 1 /1 $ 1 # % & $# 1(
#" K
#o$1#EC % + #° $ 1 # % & $# 1(C #"1
> 1 14 #1 - + I ( % +% #% ! $& # !
$i1# 1 IC mrr ! $ -, o iF 1
81;FIET * ! # &$# 1(C #" 3M I+ 1 13
# C + 2#=C mrog 1 + 1 ( $i# 1 IC -
P 3M7
$1I#F1IC (1" 1 $C 21 1 s (!
I+ 1 1 $1#C % &$# 1(C #" + 3M7 #C
$1 C +h# % U $ 1 # E$# 1( #" 3M
$! 1 $ 1 # & $# 1( #" 1 - #H %
$1# 1 IC A N
> 1 # & $# 1( #" $! 1 +$ 1 !
$ 1 # / £ "l ./ A#B & $#° ./ #"
p21 $#2 1" +$1 8B 3M $ 1 12 1 1 — + % #%
I - #O o %
87;67 D . ! 04 ! C # c . =- 11
! # % & $# 1 #" $1>2 ! #* 1 $ &%
11 ! $ ! # % &$# 1 #" >#2 1 1(?! 1
81;61;1 * ! # & $# 1 #" $1>2 ! #° 1
$ &3 I+ 1 1
87;6187 % # 3 ! "h+ $ 1 # & $# 1(
#" $! R 2 A2+ - $1816 10— "1 L |
"y i $ #C / C 21( 1 1 S#2 1 1( 2?1

C + *1 4 *1 1$ #C / C 21( w1 1 B



F

Sla'+! S#2 1./ 12 14 $1$ ./ 21|
$I$'= I | % 3 #1"+2! | 5675E785:;
693 ) >#2 1 ($!$ 07

$HIIC (! 1 $C 21 +% #( !
411 $HC % &S$SHI( #"C + *14 *17

-+ H#M(C + *14 1 - #% % $
+SH % 2 (. +%# % A 1 0% +$! |

$ ! # &$#N #"4 | 2
I % ?21 . +%# %4 1'# I( 1%- :
"# IBA# +3$'B7 - +% #% $H!IC (!

2+4 . ST 1 $C 411 $# % $HC %
LI+ CI( 212 &#Y( 21 &4 2 $! ICJ
- (1 (& SH2 1 Bl+!
SH2 11 $I'$ $1%24 $ I I +211 # |
| (2(3 &7
87,6797 * $ | #  &S$S# I #" >#211(?
$I 1 14 *1L A$ #C [/ C2( ! B+% #=
l $C %@
$1#C 2 & | $1%2 12/ $ 1 # %
&$#I( #"K
+$' S SHIIC (1" #% $IC +%H# %
12 1K
20 1 +$1K
$ " &%WSWIIC . I"1+$!l 12 1K
SHC  +# $ ! # % &S$SHI #"K
$l# C (1N $% %+$!1K
- # 1&2 2C  $ ! # % &S$#
#"K
I 1 A IB I # C( ( (
A+ ( %B S$HIIC I" 1" 4 211 #% $HIIC I
1" # 1 $&#H SWIIC MM T
87:67E7 * 21 | +$1 >#211 A$ #C
IC2(1+!1! B+% #=! $C %@
Bl+11'21$81 % Y %+$! /12 14
1 H#%S | # % #'K

B +!1" $C Ll o# 218 >#2 1|
?1.+$! K
B Y J >#21 =21 +$! + C (

#=1( ! B # =8+ #%4 ' CH# S I+ 2!
12 1 I+ #o S 1+ C ( >#H2! =
?1 +$1 K
"B o+ SW(>H2! (. +$! 1 C# |
(+% #  $H#+! @4 +- .1 2?2 #Y
"l I 20 &I ) % ?228&
?22& ? 2 4 1 $C =( &'



/ W#1"C 21 + I ( ?1 &1V _/ L $I#+ WA
$ 1 # % " w4 & $# ./ #" >S#t2 1 I(
?1 0 A # % ?28& ?2& Bl

¢1$ # 21 / *1 4 *1 4 C 42 =— (% (¢
! =— 1( ?2& ?22& K

B+ 1 1" " H= 1 +> B+ w>#H2 1 I(
21 _+$ 1+ 1 2! &

B I+ 1 I " 1 3 +9 #% *1 4 *1 2 $! -
+$1 7

ol $ # +$ ! $I1#"+ 1 W2 1 h$1 S "4
$ #1 LCIT#CT "+ #% 1 # $ 2 & C I(
+$ T

$1! - 12 2 1 /1 - # $ ! # %

&$# 1( #"1 $1S$ ST IO #2  1($1 S =
$! - th # L $ = % 1+ C . + 31! i
12 YIS .o I CI($!'$ "= $ # .

! ! #1

$1# 1 1C (rt 1 $cC $ 12 14 1 /1 w4
# $ ! # % & $#° 1( #" | " & = +$ 1 +
1 /! ! $1r 11" s # % +% # 2/ 12 !

! ! #4 # ! T# 1?2 # . + 21
$ ] 1 2 * # 1 (21(
3 & 4+ 21 121 1 # + $ ]
1 2 * #" P 211 # + 1

* ! # &$# 1 #" C % ! $
" & S 1 IC - P >S$r2 v/ 12 14
1 /1 AR ! # % #"

871;67F * ! # + % I - # + #h -/
Al 2 + . CB . % ?1 >SH2 11"l 12 $! !

*1 4 *1 A # C / C 21 w1 1 B $1$ L |
$i1# 1 IC - # 1 - # &! $I1#7+1 # 1(
2 #?2& 0 I(>#2 0 I(C$IS 4 #C 4 o# >0 2+ 1
+ 0 # $ 1 # &e# 1( #"t $ # 1 C 4
*1 4 *1 17

& #w/ $MWH C % + #° $ 1 # % #" 1

! # A # + U # 2+ 1 +$ 1 | $ # !
$i# 1 IC (Pt dC o+ KL 4 FL 41 gIHEC + #° #"

! ! #B+ % #= *1 4 *1 A$ # C / C 21(

I+ 1 1 Bl $C h+$ 0% $l 1 IcC (1" LS
>1 + % #=1 $C % 1+ 1 U "0

B I+ 21 # % $ 1 . $ixg 1 IC mr e # 1

$i1# 1 IC LA 2 S 1 IC et 2 1 3.

W+ $ $ # $ K
B+ 9% #H= . I #h $ % % #/

T 1" gwprIc " 2?22% + % # (









2 # (12 S I $18 . $!
$ Y L L L o,
Y A . /2 12 T T
N (o G

($ % % ., WS s +w# %I 1 #
fo, Y 1 - # " A $ #! /2
12 I
P H0 IC $1& - %# % 3
&% +h# w1 S 1 g o, 1 - g
Lo/ 1S /2 12 T
D?! &% 1 $ T - b,
1 - ¢ o/ ! $ #! A 12 I
? 2 0 1 # 1 $1 %24 1 C # S#2 1 1M
12 11 A8 #C  / C 21 11 1 B $ELIC 1M
1
& +hHE B U $ 1 o,
1 - ¢ Y A $ #! /2 12 14
$& # 41 (+ $ 12 14 $ $1 0,
12 . CH# 2 $mriIc it
GC# 2 $w1iIc 1M 1" 1$ . $1 0,
12 . $& # 4 1o+ $ 1 # oL
-+ %/ 1T
o7:7;797 * $ # L 12
$H1IC (1" $! 1o$Ic1 I W $8& #
$IF 1 IC 1" g (+ $ . C 1 1§
$1 % $  # N 121 $1 & 7 , ICTA $I
B$ # . $ " M —= % 1" tg&=g$ICTI( U
2 . .k
2 . 21 A4S % #C /+h#E %12 g
P 1 SIS 1 =211 _/ L PO K
$1 % 4 Cl +%# $1# 1 2 s
F1C U2 # e A$  #C B T
g 1/ wWo$ SN =gt a 1t
$1$ P oM+ A B T 1 g 0
F200 #1 S 2K
$11 $ C =%1 2% g /2% (12 14/
I ( =- P21 # 2 $1 % 4 C
2+ . 2% + i P# 1 +21 0 1§l %2
$1 % 4Ccr 218 12 I = "+ ./ (
#C 210 ./ S+l U L Clom21ot /o
I =$1C 243 $ 24+C 2 . #1 4 $ # W
2 4 (12 g1 I $18& . $!
$ N SC o+, % - g
Lo/ 1S # . 12 T T (0 ¢

T



85

C$ % % . w o$1 S R . C
+ , % 1 — # + # ./ ! $ #! /2
12 17
P 1IC $18& - hWHh % $
" &% +hH Y% - C + % 1 — # + #n ./
1 3§ #! /2 12 17
D? &% 1! $ +hH#E B 1 $ 1 # + 5, %
r — # + #% ./ ! $ #! A2 12 !
? 2 % T# 1 31 %24 1 C # >#2 1 1"l
12 nmrir A # C / C 21C .+ 1 v B g1 IC IVl
LA
' " & +th# % 1 $ 1 i + ., %
1 — # + #% ./ ! $ #! S22 12 14
$& # 41 (+ % 12 14 $ 1" $ .,
12 . C# 2 s$wpvIC o Imtrrtog
GC# 2 $gp 1 1IC 1Ml P 1's . $r $
12 - $¢& # {1 ! + $ 1 # + %
I — # + #% ./ L
o1;7;1E ol " Eh+%#E %S 1 i + 0,
I — # + #% / ! $ #! A2 12 ! 21
>S#t2 vV /) 12 17
ol $ # +h# % 1 $ 1 i + , %

1 - # o ./ ! >S#2 1 1( 2! AS # C
/ C 21C '+ 1 I B+ #= 1 /I 1+ $¢ - *1 4 *1
S#2 1 = 21 +$ 1 $ 1 # &$# 1( #"|
$ 2% "2+%Hg = >H2 1 1 12 41/ - #Y%

$ 1 o# u &$# 1( #" S #C W
G *1 4 *1 + - 1 +&+ I h>#2 1 17!
+%# HAHS ! OB
3! T#I"C 2% $1 2 2! ! "L+ %# B AT B
Io—  #% % 1 C 2 $VH +SMW H+%  # 2  1" +$1# (
>St2 1 1?0 _+$01 7* U o#H 21 2 1+ $i# "1 1Y%
SH2 1 1(?21 _+$ 1+ # L #h %1/ 2 S 1(
1, 2 $1 % 2 % $I ! ?1 I e
$! I >#2 1 1(?1] +$ 17
$& # 41 (+ % . C 12 14 $
$1 A +h# B 12 T >#2 1 1 {
$1 % >¢2 1 v +_ 12 ! ! 21 $'= w4
I 2 I 2! & K
" 12 - r# 1 31 %24 1 C #
># 2 1 1Ml 12 i AS # C / C 2I(
I+ 1 1 B g1 IC I
?1 $ # +% H=>#2 1 1 I # C +

*1 4 *1 1§14 C " & 1 +% #Ho+%# DAST B



218( 12 14 #C | % [/ C2( +!!
I C2I" 1I# %+% #%C + *14 *1K

$ #% $ $,( $2 12 ! >H2 11
C# 2 $i#!IC "1 7

GC# 2 $1HIC M1 '$ . $ %,
2 . $&# 4! I+ $ 1 # +, %
- # +#% . 7

2 #.( 12 % % I $'& . 9
$ " & +%#H % ! $ ! # +, %
- # +#%. ! $# /2 2 1 2l
SH2 V12 VL #% o IC( 7

($ % % , %@ $' $%# +%# 'S | #

+, % l - #  + #%./ $# /2
2 17

+# ($1& .%H#% %S 4 " &%
+%# %'!'$ ! # +, % ! - # + #%. |

$# /2 12 17
D? &% ! $ +%# % ! $ ! # +, %
I - # + #% .| ! $# ./ 2 2 |
?2 % S22 11" 12 101t A$ #C
[ C 2+ B $HIIC "1™ 7
97:7;7F7 # +%# 2 . $ #. +%
AS$ # +% #%BC + 3M4 ' +% #=# "1 $ H=
. % $2 $#HC 12 2 + /I$ C%
$H# C %7
$2 . % +% #= A$ #= +% #%B '
$IHC % 2/ 12 17
% # 2 . +3M$ =% S$H!IIC (!

$ 4 L B 3M
$IHIIC 1" 17
qH" & A+%HE SH .2 12
I 3M $ #%=% C# 2 S$HIIC I 1" #%
+#=& 1'$ C L1221 H= 2 1M
S+ # %4 | "+ 12 4 &SH I #" A#

210 # 2 I"$ + # %B7
$ % % , % C# 21 $gH!IIC "1 |

I$ # 2 " S +# %4 12+ =" &$H =
#"4%#% %$H ! 2 1S +# 7
97,787 3 ! $ # ! J +$!]
" A" +&B4C = $ ! # &$#1I( #"
A$ IV BY
! #% C# I $1& . %#% %
$ # +% # #! " $ # 2 14

$ ! /$ 2! 87678 N

#



88

211 # 2 " S+ # %4 ! M+
$ ! # +, % - # + #% ./ 14 $l#
$#C % + " I/ 12 14 +21 % +% # !
$ ! # +, % - # + #% ./ !
$# . 2 12 A$ #C B $' C
$I#1IC ! $& # $!1+ $12 $ # .
2 17

#C 4 # $H#H!IIC . $&# | Y2 # 14 C!
$ C $ # . 2 | ! = 2 4
$ ! . $ 2! 8767 "M "¢ 4% %

, $ # =/ | J+$117

! .8 S H#%= % 2 $+
IC"l % ! % $#HC % +%# %! ! # +, %
- # +#% . | $# /2 12 17

GS$ # ! A +$!! - #% %
S2 11 20§ LK . L
SHE2 1M + 1 ( % $I2#=C /2 ( "I #
! M>#E2 1M+ (0 %7
GS$ # ! "+ $! ! 1$2 %
I#2!1 #C I+ 11 $# % ! J+$!!
SH2 112 7
$HIIC ( $&# 1%+ $ %' /! . . #%
$H#C %! ! .+ 3! # . 127
GS$ # ! "M +$! 1$ 2 % H2 &#%/4
Wor J $ 1 #  &SHI( #"7
#C S $# % | L +$!
' 24 $ =% 4 0%
L2110 # 1 1 (2(3 &7
2 #. 12 S % | I($1&
| #% F IC/ (7
( $%% , %@ $ # 12 14
$ ! /$ 2! 87678 Mot 7
+ # | ($'1& .%#% % $#C 2/
L ISE2 LM+ 1 (9% 12 1 A[$( #
4 ' -1% /B4 n g #% $!' # %
&S #|( #" +% #=4 # 1 S$HC ?1 &4
#o=( 1] $1% 1"l A" +& (B4
C =1/ $ ! # &S#I #"412 1 A/2I$(
# 4 ' -/1% B4 1] #% $ ! # %
&S#I( #"7
32 &% +# SH % I $1&
$1+1 %7
97:797 * 0p , % ! $ ! # # 1 1

$ 1 #  &SHI #"7



89

! #% C# I $1& - B %
$1# C $& # ! S v 1Cc o140l . +
$ % , w1 $ 1 # # 11 12+ $ 1! #
&$# 1(C #4112 1y 2+  _/ $ 2 86 1%— "1
L I 4 1 C # $12 +# ! "
?r &1 1M+ 1 ( Y7
I F-: 1I($ 1& - %
$& # S v IC 1trr 4l (5 B , n!
$ 1 # # 1112+ $ 1 # & $#1C #"1
*1 # $1#C % 1 /1 -/ 12 ! $& #
S 1comroort 41 (4 $ % , W 1
$ 1! # # 11 12+ $ 1 # &$# 1(C #"|d
1 - #py $1 112 , % 1 $ 1 # # 11 12+
$ 1! # & $# 1( #"4 # 1 $12 # 2
- Mmoo+ % 1 - # + #h ./ 17
#C $1# % 12 ( % o+ % I - #
+ #h _/ ! st 1 1IC _( $& # $ c#" 2
S IC 1ML + 0, 1 - # + # ./ I #%
$ ! # ! 2 181 # 1
# C $ # %+% # +$ 1 12 I >S#2 1 1
C + *1 4 *1 A$ # C / C 21+ 1 1 B $§ >1
+ 0 # 2+ 1 $1# C + #" $ ! # 0 % & $# 1(
#" > 2 11 bogrIic _( $& # $r " #
, 1 3 1 # & $# 1( # + $1# % ?1
, % o>#2 1 1 1
ol B I - , 1 $ 1 # # 1 1 12+
$ 1! # &$# 1( #"4$12 # 2 - "1
+ o, % I — # + #h ./ My + 1 - #
+ #u _/ ! #h $ ! # 0% 1 2 1 $1 4 $ %
A $ #% W $& # I S v 1IC 11t 41 .+
$ % , % 1 $ 1 # # 1 12+ $ 1! #
&$# 1(C #"4 C# 2 g1 IC 1rpm # o+ 1 %
# 113 % » 1 "1 $ # 127
+ #" 1I( $1& % C A $ # B
+ o+ 1 "y ! C # > 2 11 4 c# 21
S 1 IC 1Mo , H 1 $ 1 # # 11 12+
$ 1! # & $#° 1( #" # 2 - |
+ o, % I - # + #n ./ 1y + % I - #
+ # ./ ! ! 21V $ v # $& # 1 1C 1l
P4l 1+ _ C » 1y 1 # # 11 12+
$ 1! # & $# 1( #"4 #H% 1 — # % # =-
1($ 1& 1
+ #" Y % 1I( $1& . ?2 %

l# 1 S % 24 ! C # >#2 1 1M1



8E

12 111 A$ #C /C2i(+!11 B $#!IC I"
1" 7
97:7E7 LCAS# BI12 1'$ +# $ ! # %
&SHI( #"7
O7;7E7;7  .C AS$ # B 12 1§l +#
$ 1 # % &S$SHI #" $wIIC 11" 7T
! #% C# $1& . .C 12 1 %#% %
$% , % ! S$ ! # #1112+ $1 #
&SH#I #" B $H 2 $&# 4! |+
$ .C 12 14 , % 1 $ 1 # #1112+
$ ! # &SH I H#H"4  #2 o
+L0% - # O+ H%S 14+, % |- #
FH% L UL 2(ISI# A - +% #% #% $HC %
12 17

L#% $#C % +# ! $ ! # % &$#I( #"
! A#B #% 2 >#2 ! ./ 1 + 12 |
'~ # A $ # +3! $ ! # #" C +
*14 D1 A$ #C [/ C2[(+!1'!1 B+% # 9% J%#%
# = 12 @
B12 4 11 %=(#C!'+% #%K

8B 12 4 %! = ($H#H!IIC% $ #% $#HC
2 1A#! +% #% ( $ #BK
OB !'" # 12 14 2+ . $ 2 8767, 1%- "I
M 4% $# +3! 12 1

$ ! # #" C + *L4 *1L A$ #C | C 2Y
I+11 BY

$&# 4! (+$ .C 12 143 .C
+H S # % H |1 #@

B # #C!'+% #%K

8B $! % $ !IC% +% #% (! ' 1 " $
$C 12 1K

OB /! 2$= +%# % 12 4 $I# - .C
+% #= A, 1S # #1112+ $ 1 #
&S$#1( #"BK

EB % >#2 1. |+ 12 1 1" # A$
$# +$! 12 1 $ 1 # #"C + *14
*1 A3 #C /C2( +!1 B $ 2+  +$! |
$IHC  +# I 1 #BK

FB+2 +% #% , !S$ | # #1112+
$ ! #  &$S# I #"K

6B . +% #= , 1 $ ! # #1112+

$ 1 #  &S#HI( #"K
<B ! +$'1.C+% #= , %!$ | # #1
12+ $ 1 # &SH#HI( #" SH2 1M



8F

2 nirA$ #C /C2i(+!! B $#!IC IM
He # " &K
1B 12+, .C ,%!s ! # #1112+
$ ! # &$# N #" #CU@
+ .C(12 'l #1'"#&14 %H%= % +% #

A"l'S$ # BK
L, %#&NI12+#'S J% " 12 4 11 %=-(

"#C! 'K

LYo 12 1$ = >H21. |+
2 1'$ $# +$! 12 1 $1o# #
C+*14*L A$ #C /C2(1+!! B $ 2+
+$1 I$HC  +# L1 #7

# 4% #4 M L, 1S # #1]
12+ $ 1 #  &SHN #H"412+#% $! ' 1=
IS SWC 12 14, 1S L # #1112+
$ 1 # &SH#HI( #" % $&# 4
! (+ $ LC 12 14 2% +%# %
$! #% | 2 112+ S$HC , %!$ ! # #!
112+ $ 1 # &$H#HI( #" $ % #
PIHC ' 12 L 12+#%04+ % (S!S '=7

G $+ # =" 1IC" % ! %! - % +% #%
SHIIC (1" 12+ "M% $HC' +# $ ! # %
&SHI( #" # 1 $# . 412 1+ 3M
+% H#H= $ #% % $' ! - A$l 4 2+ |
+0%# BII14CI! #=1 OAM# 12+ 1 1.
"22 $ .C 12 IB $ ! '% + $#C
LIS U # #1112+ $ 1 # 0  &$SH
#" # U-'SICH( 420 > 120
S #L.$ L SICIM IS # % #
cC 7

#C S C +% # 12 | SH2 1|
$ 1 *14 *1 A$ #C /C2( +!! B
2+ +$1 1 $HMC +# S L # % #
SH2 11 4 $&# 4 (+$ .CR 1@

B # H#C!'+% #%K

8B $! % $ !1IC% +% #% (! ' " $
$C 12 1K

9B % SH2!. 4+ 12 1 1" # A
$# +$! 12 1 $ 1 # #" C + *14

*1 A$ #C /C 2(+!! BBK
EB !#% +% #% ! 14 C! +# $ | # #"
$ #  #C.(2 ¥14 %1 21 S#2 11"

2 7



86

I # /! (
o#2 1 (21 4
% #= $ #% u%C +
#C 4 # +% #= 12 +
#4012+ . C 1%
2 % $ #% %+ %
?1 > 2 11112
#C .( 2 %
I+ 1 1 B “#® % + Y%
rY 7
2 #° . 12
# F 1
. C  +# $ 1! #
S % % hrg 1 #
&$#° 1( #"1
+ #°
$ 1! # # 11
# 2 -
+ ., % I - #
! # 2?1 >H 2 1
+ #" LE: %
1 # ! $1 % 24 !
12 LI I # C / C
L # " & 1T
97187 >0 12 $ # %
+ #" $ 1 #0%
! #%
$ # + 0 #
" 1§ #] =z F2 19—
$ # 1, 12 I$C 12
$ 1 o# u & $# 1( #"1
+h# = $I ! 12
1, 2 AM$SC 28BI+Y%
! # %

E
$ #
#" o+

S %

12+ $

C#

I# 11 # &! $1# 1 1C
& $#° 1(

$ # 1A S #

+ % # 12 / (

1§ ! #

#=C
L $!$
*1 4
# 9 ¥

IC $1& 8 . C
" I

e A T
o

C #
1$ —
&SH#H 1( #" 12 /1
$1# 1 1C
12 /N
g

#s 24 . A ¥/
&S # 1( #" I B

# "
1B+ #
2 $ ., =-

S#2 1 /1 4112 14
N A L .
*1 4 D1 41C 1 #% % 27
& $# 1(
" &SH# 1( #"
T S T T ST

"L >#E2 1 I($1 S =
*1 13 #C / C 21(
$1# 1 1IC 1

1( 1($ 1& -

1
# "
L

1 # & $# 1(
- # + #h ./
21( 1 $ 1 #
12 1

1I( $1& . ?2 %
> 2 111
21C 1+ 1 1 B $x 1 IC "
J1$C 12 v 12

1 $1& ho#% %
NEEEELE N
! g

./

B!
+ #°

D #h=— /% 1 1 #h

mroorr 41 I +
+ % # 4
2 + w4

IC/7 %

b1 $1 2

(8

- & Ly =— "L+ 0 # W

$ % % % $!

#C # 1 2/1$C 12
1$ - ./

$ ! # %
$i# 1 1C 1M1

1I$C 12

I A#B 1,
ESH# 1( #"
4

1($ 18

121 #C

./ .

72 I Y
& $# 1(

HD %
A#BI, H YN

12 -

t+ ¢ 1 #



8<

#"41 - #% $ # + 2+ 12 124
$ .=(F IC/I ( ! & ! ="
+%# %7

#C | %ISC 12 A#B!, 12 12 /4.
+ #' $! # % &S#I( #"4 w11 #&
$H1IC "It 4 '+ $ ! # &S #|(
#"4$ " 1 - +0 #=11 2/1$C 12 A#B
I, 12 24 $ .,=-(F C/ ( ! " &
I =-"l+%# %7

%# | S # 112 1$C12 12 /4. J
+# S # % &S$S#HI( #"4 1
$ H#1+% # SH21( 24 1 C# C + *14
*1 A$ #C [ C 2i(+!1 BY
#C $1C 2" +%# % C + *14 *1 $ # (

12 >#2 11 # 2 12 | 1 #4
12 4 2 =(! $# 1,2 . | +#

$ ! # %  &$HIN #" 12 | #  1# |
! L2 ALI2B ./ +# S # %

ESHI( #" 12 14 +- % #C! 2  +% #%
¥4 *17

+H# I $1& . %#H% % . C
AS # B+% #= $ # " + M2 4
WH%=-"1% +# | $ ! # % &SH#I #"4 #
- 1 2/1$C 12 A#BI, 127

9797 L 48l#1 #1' 12 3% % A
$1& 4 I % 281%2 /| $H# %4 | C#H I |
S % I $1& >SH2 11?1 4 2
e S % A $&

M? 2&V# ./ & S $ ! # &$#I( #"
>l # +, % - # +#% ./ 10! 2.

% 12 " (+% #(7

4. POpPMbl KOHTPONS 3@ UCMO/THEHMEM NPEAOCTaB/IEHNEM
MYHULMNaNbLHO ycnyriu

E7;7 KOpI2 |- # % 2-" 21 W% + I#=
s ! LWL #E& S (1%
"y v s 214
# o=/ | %2%$ ! # = &SHI #"4
2 $ % , (! L H& T
2-( 21 W + I#= Sl %1
#& $IIc M C s ( "l
" g v s 214
# =/ 1 % 2$ ! # = &SHI #"4



8]

2 $ % C(A# 2-(20 W %#! B
- #% 211 # $lIc 1M1t 7

2-( 20 W - #% % $  $! % $! 12
I#= % SW % W . #& | 2 $W (
19- "I " R,
214 # =/ 1 % 2 $ 1 # = &$#
#"7

E787 %1% 12 $ 1 Cl'1 - # %S$# 1./ $#!./

$! 2$H!I. 2C $ ! # % &S$SHI #"4 |
C# $1%12 2.2 Wyp+ S 2C 1 $ | # %
&SH#H I #"7
L+ S 2C 1 $ ! # % &SH
#"  2#=C % $! $1 124 %#
(S +% #(AS$ %, ( $tMI2 1
| - %41 - #. ( %A+ ( B! 217
1 2 $H1. 2C S ! # % &SHI( #"
| - #%= % | 2w, 21 1" "l
1S # %7
12 om0 $H . $# 1.7 %12
$1Cl' $#1/ $! 12 # =0 211 #
$HIIC 1M 1" 7 x $1 2 = % I$1 .4
%ot . $ 1 # &SH I #" AA$H2 .
$! 2B4# ! #. 1$!.A C2 $! 2B7
$# 1.1 2$11% % #%S$! 2 22 %
%# J (4 2 #C $HC % # ( %
A+( B ! 217 %12 2 $11% % $ 212 |
| - =+0 #%7
*LCU - # %S$#!/S$! 12 L")
+ 2 #7
E797 L &SH S # - &
o2 L2 2t W H& + %
(% A+( B4 $ . A - #% .B i
$ 1 # % &SHI #"7
o4 # S 12 HC %#H %, ($HW (

1%- "I "l g -
214 #=-1 1 % 2 $ ! # = &S$#
B4 V.12 W H#& ! |
I +210 # 11 (21(3 &7
| 24 o+ $ +%# (12 14
$ 1 # =1 L' l#= 120 $1%2 $
& 12 17
| 24 | Lo+ M2 12 14
$ 1 # = L'+ = 121 $1%2 121 # %

2 17



8/\

! 2 41 -+ . CA $ # B 12 14
$ 1 g =1 I "+ 1 #= $1%2 . C A $ # B
12 17
Li# 1 1 #&U $1' S . 12 y 2?1 ! -(
+ #" $ ! # o % &$# 1 #" $ 1 ¢ =
! 1 "+ 3 1 M " %I % . CA $ # UB
21" 12 #&43 , A S , B+ % # 1
* 1 # % 1 - 1 21 I# v/ #&
+2 $#h % / % 1 -/ 2& W/ I ! %
+ 21 1 #" 1 (21(3 & 1
ETET * 141 W/ 2 + =— ! % 2 $1 % 2 2?1
21 %+ 1 # &$# 1C #"4 0V C H# D D1
" VA BN (' +&(
[ F- A $# " "y !
L IV AN BN C "+ & (h#n % Vo1 #° 1(
?0 1 21 1y 1 — # % $ $ # w1 - (
& = #1 21"p o211 12 "y 2 % I #l %
( (A + ( %B , a4 r - # ./ A % ./B /!
S % 1%— "1 [ B4 1
1 /YA BN % 1"+ & $ $ #0 "+ C %
$ #! % $1 #C, = 2C 1 $ 1 $ ! #oo%
& $# 1(C #" 1T
1y 0'(< 0'(=) 02 - (
( (<0,(C = 4) >,
) * > 4 ?29@4 , 4 2
/[ 2 ' 4 )Y*[ 2./4 0
Fi; 1D 2?20 &% #%+ % #p1 "1 $r " #l ,
A#B ( A+ ( B & gro2mr"r o 21tr 12 "
A#B "I 1# 1 # & &$# ./ # -—-/73% $ ! #
&S # I #" A # #1 B
% # = $ 131 = # , A#B  (
A+ ( B & #r o2y o211 12 " A#B "l
# v/ # & &$# ./ # -7 % $ 1! #
& $# 1 #"1
D2 &% #% % # (! /9 ! A 1B
I #l . ¢ ( (A + ( W % /A — #o . /B
/! $ # % &$# 1C #"4 + - % *1 4 D17
Fig81 = #1 7
* ! #1 _ % #= Y% , % ( " A+ ( B
& gro2mp v o1t 12t Aglg L IC 1t vt gl
I# 1 1"l # & & gro21"r vt 12 " of 1

& H 1" g "N












99

I # % +% # , % L4 1" 12 271 $ # (
#! % C F IC/ (!'% " &7

F767* C'!!1 (#0$! # % I % #1 4
#C # +11'$ ! 1# %S | +211 # |
F(2(3 & +2!1 # 1 P21 # + 7

o #% $! 1# % I % #! .
+200 # 0 r(2(3 & +211 # ! 1 21(
I # + $ 17

Fr<7 +# I % #!.7

o+ # I % #1.% %! + # =/
, (@

I# 1" #1 K

12+"' 1# 1 # .7

&% #2111 2M12° " 1 # 10 #1104

FCcC# 211 .% %" |, %4 $ # % 1$- ./
1"14 $ ! #%-=- &$# = #"4 1$C 12 1,12

N +# S # % &$S#I( #" 12 /4
I+ +0p #= A 4 + 4211 $ I 1

I $ 1. 2 1 (2(3 &4 1 .
$ 1. 2 | 21( 1 # + 4 &SH.
$1.2 4 2 27

#C S+ % #H.S# -( 1# 1 = |
+% #=4 2+ | $2 F7E  1%-" "l
"4 % P &% ! (% SWIIC MM &#H%/
o % %# ./ ,( $ 12+

&SH#HI( #"4 2 $ 1% % + % + | # .
! 2+ % 2 &% ! # (/ ( %4 211,

1L, +% #= &HWISHC % &S$SH I #"7

#C $+ % #.4 Sl# -( 1# 1 = |
+0% #=4 2+ | $2 F7E  1%-" "l
oA =% " 1 . +1% % !$C /S %
L %4 2 7 &%!I$1%2 1 # %S %M, %7

HC  I# % NN # S +# | % #.
$+ 20 | "M, % # S S %
$& # & H2M ML2AM 124 $& #
SHIIC MM 4 # ($HIIC% $ | = #4
- BB S % = % # 1".$12 7

1# 1 #1124+ % # =/ #C %@

# s+ 111K

#C  $.," +21 = # | % 4 "]
$# 1L $ 1 %K

$IC #l. #&4 $HIICH 2111 $
$19%24 1# 1+211 # 11 (2(3 &K

#C , % $! # 4 $ %! ry "
+% #% $!! $ #.7



9E

HC  1H# % N # S +# | % #!.
$+ 2 1 "Ml o, % #HS+ 2
$ S# % W | #8&14 $WIIC | ! # 4
+ ##$ #% N = #. I
$12 7
F7]7 %12 21 | 9% +9% #% | +# [ | %
# .7
G S$H+ %A # ="+ $ %% , %+% #=
SO 4 S # = +% #%A  SH2 I
$H% %! L (1 L +# | 1 % M7
I | % #.2+ = %@
L 1" 4 S H#%=-"l  &S$SH = #"4
LM #4142 #%4 %AIC TASIE S
#CB " ! IM#&4S$ %," , $ # K
1 4 4 1% %% , %4 2#=C% %! W ! |
#&4 , # ( A+ ( B2IMI # %K

? #%4 %4 'C | ASI # $ #CB # !
+% #%K

Pl % #%3% % % , %$ # K

$ ! $ # |, K

HC 4 # # $+ 111 14 12 %
Y%H# /@4 ! CH#H 12 $! # % +#
&$#I( #"K

%I$I %21 # %$ %I # , %7

S+ I % #. SIS . %
$I#1IC . L L #H&T
FINT %121 # % | %S # 7

% # $ 1 #H ' % $ %. B +#
I % # .4 $1%2 4 g1 (=
211 # 17

F757 * | +% #%  $WC 2 & 12 14
NS H%II L % 1 % #7

% # $ ! sHmC 2 & 12 14
N #% 11 % | % #.4 # |
$ 1 142117

F7:7 $11. 201 % +9% #( ! $1%2 $! C
| % #.7

D? &% !$1%2 $! C | % #. +- %
12& #1 & # 2M Mror o2
2 &1 #21 2&!1 ) )D 04 (
$IIC 1Mo 2 &1L #21 2&!1 )
)D 0 A$S #C B4 *14 *14 21 &'/ |
$ - % $ .C 12 14 2 $ ! #% %
$! I 12 $IIC M 1" $  #C!

| - +% #(4 #?2! H#% $ 124 2 $' (2



9F

$IC1 . 1$ # B0 S#2 1 n - $! !
2+ 1 4% # 7
F1;81 12 "1 Mg # %
( ( A+ (C W $wmric ooty 2100
g1 IC 1Mo # 1 $& # $1g 1 IC 1Mo
- %1 3 #" . +21 1 1 8<5<I85:5 = 835
34 %1 1 * # 121 3 &
:615]785;8 = JE5) $1 %2 $1 C ! o # .
( %A+ ( B2 # /U Vsl g N # /
o1 S He 2 # 2 Sy /R ¥R B
#8& " ./ = Jo?2r v 1 (21 3 &
"l 208 & # ./ N 2 # .
+ 21 $1#E1LICH  $1 S 1 # = " AN
g 1 ? /SRR S SRR AN I B A 2 TR B N (
$ ! /C = n " 63 # 1"l +21 1 8<I5<I85:5
- 85314 /1 21 2 1" 281 # ./ & )
$ 1 # % ./ &$# ./ #" / 1 210
$1 1 # e & 121V # 1 ;;1;8185:8
- F68 ) I # 11 ($1C ! o #
,o% (WA + (B $W # /1Mo 1
# 1o21( 1 # /WY JHEd 2 M _/
" 2/ # -/ 121 1 # . S
"l AR R

6. Oc06eHHOCTU BbINO/IHEHNA agMUHUCTPATUBHbIX Npoueayp
(penctBnin) B M®PL,

61> 1 # &$#H 1( #" IMI — % %S
#C +28=C 1L 1" L w1l o+ 1 ( $1# 1 1C .
I 3M

6187 I #h OC# $ 1 # &$# 1( #"
B WHCU U — o+ % % 3ME S 1M1 I

ESH 1ML 41w 2011 P #

69T D 21 &% IS 1 # &$# 1( #"I

v/ s v # ESH I( #"L . a1 |
. $ 1 # E$H# 1(  #" 2
21 # 1 % #C U ST%2 S 1 # & $# 1(
g 3M$ 1 @ % ! 21 3M$  §! I
R F% 3M #  $! I 21 1( U
I ( =— +21 0  # 14 " == 1" 8=
ho# ! 3M7

D21 1 P $1 %2 $ 1 # % &$# 1( #"
-y

Ly "7 21 1 . 3W



96

67/E7* #C! 1 - +% #% 3M ! 241 (
+$ 12 '@
# #C!' +% #% Il 12 4
'l %=-"1 "I #C!1 '4 $ #%0 +% #% I
12 14 11 %=/ "I #C! ' $HIIC% A #C "
I - %BK
$! % $ # 1 +%# S 20 " 1S H =
o2 1%- ! "# I $ 1 #
&S#I( #"4 + T &# ! - %4 12
$ @

B 2 +%# $ %$IC =K
8B +%# 2+ . ? #%4 %4 'C | AS'#

#C B?+C 2"M#&#! | = C 2"M#&K
MB+%# $I$ ! $H#HIIC . #&K
EB $# . 12 4 . # $! # %
&S# N #"7
FB ! 12 4 11 %=-"#C!'4 .4
2+ . +%# tnog 07
# 21$ $I# 218 # /12 14 1C# 9
Lo#. 12 ++ %$H. N $! 1#
* # 1 (2(3 & ! 887;8785;8:;9<6)
g1 + & % #'! M2 2&V# ./ & !
$! # % " A &$# . #"04 + % /4
I+ - +% #=9%'# 2 12 17* + I %
21$ 12 $'# 2 21$ 12 $! #% % $°
) 104+ % % $S'=! 2 3M4 3 %," 12 4
2+ ?2 #4 &# .+ %K
+ $# % %! +% # $ # /12 |/
o+ 020 &Y AD 3MBK
: $2 s$#C 12 1 S # #"4
?1 1 = D 3MK
?1 +% #% ! 12 $ ! # %  &$# |

#"4 SIL/SHC % 21 & I/l S % &SH(
#"K
1#% +9% #% ! 14 C! 1 1 . 12

/| % % 3M C 95 (4S$I#C"$ =% S$H!IIC (
1" 7

67F7 %# 12 4% %. ! +% #% $ | #
&SH#HI( #"4$ =% S$WIIC (!" S+
IC" %4 # =" + & +%# % 12
3MA $I 1 HCIM T - 0 $IISTL #1 4
- I 21$ CAl# 1 [>2+ $#% /7
2+ + % % ! 20 3M $ % $&#
$HIIC M 1" $ SIS T 2+ $HU% I$IL # 1M

I o $HIIC 11" [ %2212 I



9<

Ic !t L #1v#CJ #4 (1 % 3M7 +%#

$!1+! %! 2 2+ 2 + | 412111 $
+ % # 12 .7

6767 * | - +% #% + $ | # &S # |
#" C + 3M . C +# $ ! # % &$#I( #"
I - #% %$ #C! | - 3M7

6767;7 I+ . C + # $! # %
&SH#HI(  #" I 2 3M4  $HIIC (
211 # 3M7

676787 L#% $#C % +# S ! # % &$#( #"
M +% # $ J%#% 12 4 11 %=-( " #C!'
$27

#C I - % $ #% +% #% $ #%= %

2 4 11 %= #C!' $! = S$HIICY
$ #% + % #%7

I 2 3M4 ! (+ .C 12 14 |
12 . +% #= " ?22 /.C D 3M7 % #
$! ?2 $HC % 12 | I( $'3$ '= $24
211 0 | % 3M7

# +% #4 g ! $ C . N
12 14 12+#% $! =81 $#HC 12 14
12 =% 12 3M4 ! - #%=( .C

2 14 21$ +%# % $ ! #  &SHI #"4
| % (% 3M $24$! #% | 2112+ $#C
2 13 % #1 HC ' 12 L 12+#%04 + %
I($!$'=7 >! #C 3M C # =/ & (
1 $C S # 12 14211 +% #I12+#%SHC '4
$IIC (1" 7

G! ! .12 /%% 3M C 95 (4$'#
C"$ =% S$WIIC .(I"7

67<7 D. ( %4 /! . #% S | # % &SH |

#"4 1 C#H %+ . S 21 ( #!  # |
2#2& 1 I(SH2 11 $1$  +% #%4 S+ (B
| - + $I#C &$#I( #"4 2 | #
$ C% 1] %=-/ & 14 211, 1$2=% #%
S+ % &H%WI ! $C % 2+ I($! 2 IS #%= %
| I $HIIC . 1t $ MR =
3 O## N H$S L (2(3 & '# "I+
HE 12L& &IV 4 S+ I &HY
$ - ( + $HC &SH#H I #" A#B
$ 1 # % 2I( #"4 3M $ ! 7

6777 LI ! A 1B ! # (0«
A+( %B 3M4 | 2 3M - #% % $1%24

$ ! 1'$21F7;8 1%-" A



9]

61N S 1 IC (1" 4 ! #h=— ( & S$# = #"/|
$ $ ! # & $#° ./ #" 3M!I $C 0
$ 1 # & S # ./ #" 3M$ #1 1 %
3M ! % 4 M # . 1 3 # . +21 1 1
8<15<i85;5 -8;5 3 K
I $ 3M2 2?1 &1 . 41 — 1 /! -
# $ 1 # % & $# ./ # " o4 # !
$ ! 1 2 # . +21 1 4 I C # $I1#"+1
?r &V v/ IgI"C 21 2! 2& 1 1(C 72 2 K
$ 1 # 11 +$ 11 3M 1 /1 ./ (P!
I$1 41 1 %— %2% 1 # = &$# ./ #" 1V C #
11 ! VA I $1#"+1 21 &1 1
/ 1t Co21(C 2! 2& Y 1(C 7 2 K
$ ! $i#C /! 3M >S#t2 1 1?1
12 ! ?21 & 4 $1 3 -/ # 12 #7?2¢& ! I(
>S#t2 1 1(C$1 g "= 1 /! VAR I # % & $# ./
#'" +$HC B 2/ 12 ! ?1 & M1 # 4
# ! $ ! 1?2 # . +21 1 ¢
I # 3M ! + I S V. 21
"H == I . =— Yo+ $ 1 #
& $#° ./ #'K
I - # oV v @2+ L/ "# !

+ 1 ( 3Mi



9/\

* 41
2 I
$ 1 # % &SHI( #"
U #E o+, %
L. # +#%./ 10

&= 12" 2
A37D77A$ #CB"  $#!'=437D77A$ #CB
#IN$ $  #%AD*BBS$H#! = #
! D*$#!4 4! 37D7T7A$ #CB
$H1'=$  #%= C2"M#& AaB $#! | B
A $! %" 4 Il D4aB

A2l 2 ( #?4 >#2 1 ($IC4%C!.( B

GD
I1$ ! # +, % ! - # +#% ./ !
o+, - # +#%. 14 Y%+
A2+'$C. +. " # 2. 11 /$12. (AS12# 24 21 2&% # ! $'+ /2 2&(4
+ 2 (% 4%# 12" 4 1. B
@
A2+ $!' % !B
o 85 "7$b b 8 "7
A2+' 128! % IB
G 1% +%# N-=4 C! ¢ 121C $! % + #%./ ! 12
$ ! .4 .. +, - # % + #% . 14
$! . Lo g = LM Q# I SI2. %4 +#
( #" 7

1%- +%# =% #"= % 12 .@

16 '+% #%
AS!$ 'B A ,?2128!$ B
*

ymcno






G

> # -9

2 "
$ 1 # % &SH I( "
' < 1 ¢ o,
; L~ %+ # ./ 10
!
A3IDT 7+ I(-2 1 "= $ 1 w2r 2 _(C #7218

CCccccececececccececcececcceccececcceccceccceccce
IC 1 B

- C + L, B U - # + #% L/ !
- $ = 11— 1 12+ - C + , % 1 — #
# ./ V4 Wt /
C + # 02 . Ty /812 0 (A$ 128 240 21 28 % # LY I ./ 2! 2& (¢
+ 2 C .$ I $# ra" 4 L I B
g
A2+ * $! % I'B
%  CCCCCccccccCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCe
A2+ "1 1 1 % C 12+ % 1 # #"B
! C "= 8Ki; LA I $ 1 # 0%
&# 1C #" )Yy 1 # + ., % 1 - # + # L/ 1 04
I"Icceeccccccccccccccccc - ccecceccccecec ' )ac 0 ccecee85cecc7 $ #%
12 A4S #) . 2+W%W# =A/l - ccceeeeceee! )oc Occcee85cec "B
#1 %60
Alg 1 "B A$T $ "B A, ?20128%1% B



E8

I =
2 o
$ 1 o# % &SHI H#
U #E o+, %
L. # +#%./ 10

1S Q $% A 1$IC2 B
LSl 1 =1 M4 IMSI2, %A +# S (
#"o !

G 1%- 2! 9! %Q $! % A ! $IC2 B
N Fo1M4 111" g2, %4 +# ./ ( #" Y
| 4 s | $!
@ccccececccccccccececcccccccccceecccccccececeeeccccececceecccccccc 4 "# N
+ #1" C 24 2+ J20 2&@ 1248% 1 (
+ - # +#%. ! !ccceccecececcccccc:ccecececceceecccd
.(cccececccccccccccc4 $HIQ $#! A ! $IC2 B 1J
I @cceeecceeccceeeeecccccecceceeeccccccece?

*#l @ 3! # ccccececceecece # /7

Al#1'B A$!$S 'B A ?212%'$ B

*



